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Nr Reakcja
2A1+3S — ALS;

[S—

2 2ZnS+30,—2Zn0 + S0,

3 Fe;0; + 4 CO — 3 Fe + 4 CO,t

4 3 Fe + 4 H,0 — Fe;0,4 + 4 Hyt

5 CaH, + 2H,0 — Ca(OH), + 2 H,0

6  2FeS,+5'/,0,— Fe,05 + 4 SO,1

7 4H;PO; — 3 HiPO, + PH;t

8 2 Al+ 6 HCl — 2 AICI; + 3 Hat

9  2HS8+30,—280,} +2H0

10 2AsH; +3 0, — As,05 + 3 H,0

11 2H,S0;+S — 2 H,0 +3 S0t

12 2KOH+ CL — KC1 + KCIO + H,0

13 2B+ 3Na0, — 2 NaBO, + 2 Na,0

14 2 HCN + H,SO, + 2H,0 — (NH,),SO; + 2 CO?

15 4KCN+2Sn0, — 4KCNO +2 Sn

16 3 Fe(CN), — FesC+C +2 (CN),T + Nyt

17 2Cu+8KCN +2H,0 — 2 K5[Cu(CN),] + 2 KOH + H,?
18 2 Pb(NO;), — 2 PbO + 4 NO,1 + O,

19  4HNO;+3C—2H,0+4NO1t +3 CO,

20 20 HNO; + 3 P, + 8 H,O — 12 H;PO, + 20 NO?t

21 6HNO;+3 S — 3 H,S0,+6NOt

22 10 HNO; + 3 I, — 6 HIO; + 10 NO1 + 2 H,0

23 2HNO;+2HI — L, +2 NO?t +2 H,0

24 2 HNO;+H,S — S +2NO1 +2 H,0

25 8 HNO;+ 6 KI— 6 KNO; +3 I, +2 NOT +4 H,0
26  NH,CI +NaNO, — N,1 + NaCl +2 H,0

27 3Si+4HNO;+ 18 HF — 3 Hy[SiF] +4 NO? + 8 H,0
28 Cu+2H,S0; — CuSO; +SO,1 +2 H,0

29 SO,+2 Hg,Cl +4 HCl — 4 HeCl, + S +2 H,0

30 SO, +2 CuCl, +2 H,0 — 2 CuCl + H,SO; + 2 HCI
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SO, +2 FeCl; + 2 H,O — 2 FeCl, + H,SO4 + 2 HCI
SO, + SnCl, + 2 H,O — SnCl, + H,SO, +2 HC1

SO, + Br, + 2 H,O — H,SO4 + 2 HBr

SO, + 1, + 2H,0 — H,SO4 + 2 HI

3 SO, +2 HNO; + 2H,0 — 3 H,SO, +2 NO?

3 H,S + 8 HNO; — 3 H,SO, + 8 NO?1 +4 H,O

S +3 Br, +4 H,O — H,SO, + 6 HBr

P4+ 10 Br, +4 H,O — 4 H;PO, +20 HBr

2 KI +2 H,SO; — K,SO,4 +1, + SO,1 +2 H,O

I, +5Cl, +6 H,O — 2 HIO; + 10 HCI

3 Cu+ 8 HNO; — 3 Cu(NOs), +2 NOT +4 H,O

8 Al + 30 HNO; — 8 AI(NOs); + 3 NH4sNO; + 9 H,O
2 Al+ 6 H,SO4 — ALSO4 + 3 SO,T + 6 H,O
(NH4),Cr,07 — Cr,0;5 + N7 +4 H,O

2 Fe + 6 H,SO4 — Fey(S04); + 3 SO,1 + 6 H,O

Fe +4 HNO; — Fe(NO;); + NOT + 2 H,O

4 Fe + 10 HNO; — 4 Fe(NO;), + N,OtT + 5 H,O

Mn + 2 H,SO; — MnSO, + SO,1 + 2 H,O

4 Zn+ 10 HNO; — 4 Zn(NOs), + N,O1 + 5 H,O

3 Zn+ 8 HNO; — 3 Zn(NOs), + 2 NO?T + 4 H,O

Zn + 2 H,SO, — ZnSO,4 + SO,1 + H,O

3 Co + 8 HNO; — 3 Co(NOs), +2 NOT + 4 H,O

3 Ni+ 8 HNO; — 3 Ni(NOs), + 2 NO1T + 4 H,O

2 KMnO; + 16 HCl — 2 KCI + 2 MnCl, + 8 H,O + 5 Cl,1
K,Cr,07 + 14 HC1 — 2 KC1 + 2 CrCl; + 7 H,O + 3 Clb?
6 NaOH + 3 Cl, — NaClO; + 5 NaCl + 3 H,O

2 NaOH + CI, — NaClO + NaCl + H,O

Au + 3 HNO; + 4 HCI — H[AuCl4] + 3 NO, + 3 H,O
Pt +4 HNO; + 6 HCl — H,[PtCl¢] + 4 NO,1 + 4 H,O
2 KOH +I, — KIO + KI + H,O

3 NO, + H,O — 2 HNO; + NO?

3 KNO; + H,SO4 — KNO; + K,SO4 + 2 NO?T + H,O
3 NaClO — NaC10s + 2 NaCl

2 H,MnO4 — 2 HMnO, + MnO, + 2 H,O
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NaOH + 3 Br, — NaBrOs; + 5 NaBr + 3 H,O

PbS + 8 HNO; — PbSO, + 8 NO,1 + 4 H,O

K,S + NaClO + H,SO,; — K,SQ4 + NaCl + S + H,O

5 NaBr + NaBrOs; + 3 H,SO4 — 3 Na,SO, + 3 Br, + 3 H,O

2 K,CrO4 + 6 KBr + 8 H,SO4 — 5 K,SO4 + Cry(SO4); + 3 Br, + 8 H,O
K,Cr,07 + 3 SnCl, + 7 H,SO4 — 3 Sn(SO4), + 2 CrCls + K,SO4 + 7 H,O
2 KMnO, + Na,SO; + 2 KOH — 2 K;MnO, + Na,SO,4 + H,O

2 KMnO, + H,0, + 2 KOH — 2K,;MnO, + 2 H,0 + O,1

2 NaCrO; + 3 Br, + 8 NaOH — 2 Na,CrO4 + 6 NaBr + 4 H,O

As,Sg + 28 HNO; — 2 H3;AsO4 + 3 H,SO,4 + 28 NO,»1T + 8 H,O

2 KMnO, + 5 Na,C,0, + 8 H,SO,4 5 Na™ + K,SO4 + 2 MnSO, + 8 H,O + 10 CO»1
Cry(S0s4); + 3 NaNOs + 5 Na,CO5; — 2 Na,CrO4 + 3 NaNO; + 3 Na,SO4 + 5 CO,1
Crx(SO4); + KC105 + 5 Na,CO5; — 2 Na,CrO, + KC1 + 3 Na,SO, + 5 CO»1
6 FeSO, +2 HNOs + 3 H,SO4 — 3 Fey(S04); + 2 NOT + 4 H,O

MnSO, + 2 Na,COs + 2 KNO; — Na,MnO, + 2 KNO, + Na,SO, +2 CO,?1
3 CoS + 6 HCl + KC10; — 3 CoCl, + KC1 + 3 Si + 3 H,O

3 NiS + 6 HCl + 2 HNO; — 3 NiCI2 + 2 NO?1 + 3 Si + 4 H,O

3 Cu,S + 16 HNO; — 6 Cu(NOs), +4 NO?T + 3 Si + 8 H,O

3 As;+20 HNOs + 8 H,O — 12 H3As04 + 20 NO1T

ASs+ 10 KNOs + 6 Na,CO; — 4 Na3;AsO4 + 10 KNO, + 6 CO, 1T

A$,03+ 6 Zn + 6 H,SO4 — 2 AsH3T + 6 ZnSO, + 3 H,O

2Cu*"+2T —2Cu" +,

Sn*" +2 Fe’* — Sn*" + 2 Fe**

2Fe +2T — 2 Fe* +1,

2 Fe* +Br, —» 2 Fe* + 2 Br

AsO +2T +2H"— AsOy” + L, + H,O

2 Fe**+ CIO +2H" — 2 Fe’* + CI' + H,O

AsOs +S*+2H" — AsO3> + S + H,O

AsO* +3Zn+9 H' — AsH;t + 3 Zn*" + 3 H,0

SO +47Zn+8H" — S*+4 Zn* + 4 H,0

NO3 +3 Fe* +4 H" — 3 Fe’* + NOT + 2 H,O

Cu+2NO; +4H" — Cu*" + 2 NO,t + 2 H,O

Cr,0 +6Fe* + 14 H — 2 Cr'" + 6 Fe** + 7 H,0O

Pb;O4 + 2 Fe*" + 8 H" — 3 Pb* + 2 Fe*" + 4 H,O



99 2NOy +2I'+4H" — 1,+2 NOT +2 H,O

100  Pb;O,+2Cl'+8 H — 3 Pb*" + Cl,1 + 4 H,O

101  AsO;* +I,+2 OH — AsO,* +2 I+ H,O

102 S,0:*+4Cl,+ 10 OH — 2 SO+ + 8 CI' + 5 H,0O

103 SO* +1,+2 OH — SO/~ + 21 + H,O

104 2Cr*+3ClL+160H — 2 CrO* +6 Cl + 8 H,0

105 2Ag"+S0:>+2OH — 2 Ag + SO + H,0

106 HPO;* + Br, +3 OH — PO, +2 Br +2 H,0O

107 N,H;+2L+40OH — 41 +N,+4 H,O

108  AsO;*+2Ag"+2 OH — AsO, +2 Ag+ H,0

109 2Auv" +AsH; +9 OH — AsOs* +2 Au + 6 H,O

110  2Mn* +35BiO*+ 14 H — 2 MnO, + 5 Bi*" + 7 H,0
111 2MnOs +5H,0,+6 H — 2 Mn*" + 5 0,1 + 8 H,0
112 AsOs +S0;* +6 H" — As** + SO, + 3 H,O

113 2As0;* +2NO; +2 H" — 2 AsO,> + N,O; + H,O

114 2MnO; +5NO; +6 H — 2 Mn*" + 5 NOs- + 3 H,O
115 2MnOy +3 Mn® +4 OH — 5 MnO,| + 2 H,O

116  Pb* +NO3 +2 OH — PbO,| + NO,- + H,O

117  S+2S0.+20H — 3 SO;* + H,0

118 S +2NO;y— SO+ +2NO?T

119 8MnO;, +5S*+24H" — 8 Mn*" +5 SO,/ + 12 H,O
120 3L +10NOy+4H — 6105 + 10 NOt +2 H,O

121 2Aw"+3H,0,+6OH — 2Au+3 0,1 +6 H,O

122 AuCl,+3 Fe - Au+3 Fe** +4Cl

123 2 Fes +2 S,0:% — 2 Fe?' + S,06

124 2 [Fe(CN)g]* + I, — 2 [Fe(CN)]* +2 T

125  2MnOy +5 G0+ 16 H — 2 Mn*" + 10 CO,1 + 8 H,O
126 S,05* +4 CIO +2 OH — 2 SO+ + 4 CI' + H,0O

127 4 Zn+NOs +7 OH + 6 H,O — 4 [Zn(OH),]> + NH;?1
128 8 Al+3NOy +5OH + 18 H,0 — 8 [Al(OH),] + NH;?
129 3P,+10105+36 OH — 12 PO+ 101 + 18 H,O
130 5P,+ 12105 +28 OH — 20 HPO;* + 6 I, + 4 H,0O

131  FeS;+5NO; +4H" — Fe** +2 SO~ + 5NO1T +2 H,0
132 As;S; +28 NO5y + 16 H" — 2 AsO,* + 3 SO,* + 28 NO,1 + 8 H,O



133 As;Ss +40 NO;y +24 H" — 2 AsO, + 5 SO+ + 40 NO»1 + 12 H,O
134 2 [Fe(CN)s]* + H,O, + 2 OH — 2 [Fe(CN)s]* + 0,1 + 2 H,O

135 2 [Fe(CN)s]* + H,0, + 2 H" — 2 [Fe(CN)g]* + 2 H,O

136  CuS+8NO; +8H"— Cu*" + SO, + 8 NO,1 +4 H,O

137  3Cw,S+10NOs + 16 H — 6 Cu*" + 3 SO+ + 10 NOT + 8 H,O
138 2T +2Fe* —> L, +2Fe*

139 Bi+NO; +4H" — Bi** + NOT + 2 H,O

140 SOs*+2Ag +2O0OH —2Ag+ SO, +H,0

141 2Fe** +ClO +2H"— 2 Fe’* + Cl'+ H,O

142 2 Fe* +Pb;Os + 8 H — 2 Fe** + 3 Pb*" + 4 H,0O

143 5CO+210;+2H"—1,+5CO,t + H,O

144 2 Al+NO; + 5 H,O + OH — 2 [AI(OH)4] + NH3%

145  CrOy +MnOy — CrO,* + MnO,]

146 2 MnO,+ 5 H,0, + 6 H — 2 Mn*" + 5 0,1 + 8 H,O

147 CO(NH,), +2 NO; +2 H" — 2 N,1 + CO,1 + 3 H,O

* Na podstawie: Marian Langner, Reakcje utleniania-redukeji w nauczaniu chemii, WSiP,

1988 r.



